Construction division. Advice for giving credit to contractors/suppliers.

S1. N	o. – site bills register	2155			Regist	site bills		29/	p 24 2013
Comp	nany Name:	MRA	1111		Site:			GM	R.
Name	e of Confractor	Vida	achan	tes					f. hicker.
Natur	re of work	Misc	civil e	porto	, in	ludre	3 Ke	rh(tow	, hicker.
Work	done	From Dat	e	30	-3-	701) To	Date	204	-04-7073
SI. No.	Villa/Flat/block no.	Qty.		Rate		Units	Amou	nt	Contractors bill no
1.	Kanp Kubino Kabina touch Wom to to blo A to f block	n 46	4	16		412	74	24.	
2.	Kerbston touch	yps 3		16		chit	\$2	50	
4.	Wom to tor blo	1 52		16		C)+	83		
5.	A tof bloc	10	10	16		4	300		
6.	2	6		1,6		811	-	40	
7.	Brickwort		20	13		oft		60'	
8.	Brickwort.	_	184	10		Sit	5	-904.	
9.	, ,					-		 	
10.		_							1
11.	Т	otal:					21	580	
Bill	required	☐ YES	NO.		GST	bill requi	red	O YES	NO.
	surement &	Requir				surement		☐ Enclos	
estir	nate sheet:	∃ Not re				nate sheet		□ Not en	
PO/	WO no.				PO/\	WO date:			
Rem	arks:								
App	proved by Project Man	ager	Appro	oved by	/ Desig	n Team	App	proved by	M.D.
Dat		7,	Date:				Dat	e:	
Sign	n:		Sign:				Sig	n:	

Notes. 1. This advice must be sent within 7 days of completing work. 2. This form can be used for certifying labour bills, bills for hire charges, earth work, turnkey civil contractors. 3. Wherever not applicable – fill NA. 4. Estimate and measurement sheets are not required for turnkey jobs where guideline rates are clearly given.

Santosh civil work 6.xlsx Estimate sheet

31,580						
5,904	6	sft	984	Coping		
8,060	13	sft	620			
1,040	16	sft	65			
832	16	sft	52	plastering of kerbstone		
3,040	16	sft	190	pathwork from A to F block		
5,280	16	sft	330	pathwork from A to F block		
7,424	16	sft	464 sft	Kerbstone (brickwork+plastering)	Ramp Peripheral road	
Amount	Rate(Fixed)	Units	Quantity	Item Description	o. Item Head	SNO
	29-04-2023		Date:	Md. Sufyan Rabbani.	Prepared By:	Prep
	20-04-2023	ate:	Work end date:	Vidyashankar	Contractor	Con
	30-03-2023	late:	Work start date:	Misc civil work, kerbstone plastering, brickwork ramp CC road	Work Description :	W.og
			Sign:	GMR	Ø	Project
chan	Ahmed ullah khan	y:	Approved by:	MRMLLP	Contan Name	COE
					ESTIMATE SHEET	EST

Santosh civil work 6,xlsx Measurement Sheet

							SNo			* * * * * * * * * * * * * * * * * * *				
						l Ramp Peripheral road	Item Head		Prepared By:	Contractor:	Work Description :	Project:	Company Name:	MLASUREMENT SHEET
Coping	Brickwork for kerbstone	plastering of kerbstone	plastering of kerbstone	pathwork from A to F block	pathwork from A to F block	Kerbstone (brickwork+plastering)	Item Description		Md. Sufyan Rabbani.	Vidyashankar	Misc civil work, kerbstone plastering, brickwork ramp CC road!	GMR	MRMLLP	
984	310	65	52	95	165	232	Length	>	Date :	Work end date:	Work start date:	Sign:	Approved by:	
_	_		_	2	2	2	width	В		date:	t date:		by:	
_	_	_	1	_	1-	_	Height	С	29-04-2023	20-04-2023	30-03-2023		Ahmed ullah khan	
_	2	_	_	1	1	1	Nos.	D					ıh khan	
984	620	65	52	190	330	464	Quantity	E=AxBxCxD						

Bill for equipment Charges Vidyashankar Mallapur Hyderabad

Date: 29-04-2023

In favor of:

MR Mallapur LLP Gulmohar Residency

Project / Site: Location:

Mallapur

Type of Work:

Misc civil work, kerbstone plastering, brickwork ramp CC road

Towards:

Allowance for labour charges.

S No.	Description	Amount
1.	Misc civil work, kerbstone plastering, brickwork ramp CC road. Total Amount = 31,580/- Work done from date 11-10-2023 to date 05-12-2023	Rs.12,632/-

Amount in words: thirty one thousand five hundred and eighty/

Sign:

Bill for Labour Charges Vidyashankar Mallapur Hyderabad

Date: 29-04-2023

In favor of:

MR Mallapur LLP

Project / Site:

Gulmohar Residency

Location:

Mallapur

Type of Work:

Misc civil work, kerbstone plastering, brickwork ramp CC road

Towards:

Allowance for labour charges.

S No.	Description	Amount
1.	Misc civil work, kerbstone plastering, brickwork ramp CC road. Total Amount = 31,580/- Work done from date 11-10-2023 to date 05-12-2023	Rs.12,632/-

Amount in words: thirty one thousand five hundred and eighty

Sion:

Bill for consumables Charges Vidyashankar Mallapur

Mallapur Hyderabad

Date: 29-04-2023

In favor of: Project / Site: MR Mallapur LLP Gulmohar Residency

Project / Site: Location:

Mallapur

Type of Work:

Misc civil work, kerbstone plastering, brickwork ramp CC road

Towards:

Allowance for labour charges.

S No.	Description	Amount
I.	Misc civil work, kerbstone plastering, brickwork ramp CC road. Total Amount = 31,580/- Work done from date 11-10-2023 to date 05-12-2023	Rs.12,632/-

Amount in words: thirty one thousand five hundred and eighty

Sion: